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OVERVIEW

The X773 challenged 27 (who maintains that by n71n he pays ap° v n) from our
mwn, where it states that Nr7 Ndn he pays N°1Mw 77, even though that in order to
eat MIna nnon she needs to be n71n; this seemingly disproves 27. Our mdoIN
explains why the X723 did not offer an alternate resolution.
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The X713 did not want to establish the ruling of n>173w i Nn%Wn MIRT TNOR 79K
in a case where for instance the nun? nne protrudes into the 7219 (which is a

1"777), so the animal can eat without 91577; in which case -
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29 would admit that he is 915, This would resolve the s'kn3 question. The reason the
X713 did not offer this answer is -
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For it is unusual for a store to protrude that much into the 7an.

SUMMARY
All agree that (in the unusual case) where the min (nno) protrudes into the 7217,
that he is n73w 71 22WnH.

THINKING IT OVER
What would the advantage if we would give this answer (that it was 0% v?12
7am)Y, over the answer the X173 actually gives (that it was n"17 1722)?

' mooIn “‘question’ is perhaps based on his previous interpretation of mMfi;1 NS (see nNoM 7" NN). If NAMA AN meant
the actual doorway, then it cannot protrude 72117 7107; however according to '0In that it refers to the 1°0°n display
stands in front of the nn, this can plausibly be protruding 72ara7 7I0%.

% It would be Mwd (from paying 7P 1w 1) because it cannot be considered P1°171 MW, since the animal (which is
standing in the 72177) can eat from it without 71°n. See previous nN7mn 73"7 '010 (TIE footnote #14).

3 MooIn seemingly means that in order for the namA AN (the 1°0°7N) to be 7am77 TN v (in a way which requires
no 71°m), this would require that the man should also be (72r77 TINY) ©13; this is unusual.

* This is assuming that it is the 777.
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